Equations Review, Part 3

If an equation involves fractions, it is often easier to solve it if you first get rid of them. We do that by
multiplying both sides of the equation by the denominator of the fraction (or by the LCM of the
denominators). This is not absolutely necessary as a starting point, but it does make things much easier.

Examble 1 ia+4 -6 4 Note: the entire left side Check:
ampre 1. 4 needs to be multiplied by 4. 3.8 426
3 That is why we enclose it in 4 3 =
4(zat4) =4-6 parentheses. 8 9
s +4 L6
3Ja+16 = 24 - 16
3a=8 +3 6 =26 /
a=83=22/3
5 Check:
Example 2. —g(x+7) = —6 5 5 9
-<—@8+7) L -6
) 5
5 '<——) X+7) = 5(6 Next we simplify 5 - (=2/5).
5 | (X+7) (=6) plify 5 - (=2/5) —%(15)2—6
—2(x+7) = =30 + (=2
(x+7) -2) 6
x+7 =15 -7
X =8

1. Find the errors in these solutions, and correct them.

a. 3
Y- 7 =2 -8
3y—7 = 16 25
3y = 23 +3
y = 233=72/3
b.
ay+2) = 2 |5
4y+8 =13 |-8
4y =5 +4
y=54=1%
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2. Solve the equations. Compare the three and how they are solved.

a. ta+7 =3 b. v@+7) = 3 ¢ ~2@+7) =3

3. Practice some more. Solve the equations.

T ) = 2 _5 - _2
a. 2 = 10(4 X) b. 2(1 x)—12 c. 2y—5

4. Solve equations involving decimals, also. Use a calculator. Give your final answer rounded to two decimals.

a. 04(x+5) = -3.7 b. 472w—-8.9 = 20 c. 98.5 = —3(y+25.6)
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Example 3. Here, the fraction is 4
in a different spot in the equation. 2(x+ ?) = -7 | "3
Multiplying by the denominator 4
still works. 5-2(x+5) = 35
4
However, you could also start 10(x+ 5) = =35
the solution process by applying _ B
the distributive property on HR G et g
the left side. 10x = —43 +3
43 3
X="70 =47
5. Solve the equation from example 4 4 A
again, this time starting the solution 2(x + ?) = =7
by applying the distributive property
on the left side.
Hint: don’t convert improper fractions to
mixed numbers during the solution
process. It is easier to calculate with
fractions than with mixed numbers.

.

6. Solve. Compare the three and how they are solved. Again, keep any improper fractions during the process.

1 1 1
a. —3(X+ z) =1 b. _3X+E =1 c. 3x+1 = 3
7. Fill in the missing parts — either what is to (
be done in the next step, or the missing -7 = S
numbers. 9
9-Qy—-17 =
18y — =
18y = 68
y =
\
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8. a. Verify that x =—4/3 is not a root

of this equation. 6(x — %) = o
2 _
6x— 5 = ~12
6x—4 = —12
6x = —8
b. Find the mistake in the solution, X = —8/6 =—4/3
and correct it.
9. Here’s a riddle to discover by solving the equations. Use blank paper if needed.
T 3(x+2) = -3 R 2= 17-% A 3x+6 = >
x+35) = 8 5
H 02(6—-9s = 50 E 15 =3-T+0.7) W 40-09x = 355
Everyone always talks about it, 5 0.2 Las =129 244 0.2 =9
but no one does anything about
it. What is it? The
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